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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Trend plot forP3-7 0
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P3-7

i) | BRI (F)) | EBE (BA/HK) | XS R
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08:00 138 90.0 A 7 HA@08:00 (K A{EREE)
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13:15 138 90.0 5 FHR@13:15 (RAERHEE)
Bit| 552.0 (4%) 360.0 3233 %EC: 1900.0, PH: 6.5
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P3-7

Bria) | GEBRRTIC (FD) | El= (BH/HK) | XS TR

08:55 210 130.0 5 RRi%@08:55 (KRFFEREE)
12:10 210 130.0 = BRi%e12:10 (RAEAMERSE)
=2it| 420.0 (2%) 260.0 $3#KEC: 1900.0, PH: 6.5

large discrepency for begining water status (67:276.0), set to 109.0 ml.
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P3-7

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:50 900 50.0 5 1318006 :50 (K FH{EREE)
07:50 900 50.0 | = B3%@07:50 (KRFEERSE)
08:50 900 50.0 = {B31%@08:50 (K FH{ERLEE)
10:40 900 50.0 5 B1%010:40 (RFERSE)
12:15 900 50. 0 5 Brig@12:15 (RFEERSE)
13:30 900 50.0 5 Bi%@13:30 (KREEHZE)
14:50 900 50.0 5 Bi%014:50 (REERSE)
=3t 6300.0 (70%) 350.0 3EGHKEC: 1900.0, PH: 6.5

EOREBETK (300. 0) 5FHA (77. 0) AFF, FlREH T % MEEZR S E XER

2RI\ L PRIERE195. 0 ml.

large discrepency for begining water status (67:288.0), set to 111.0 ml.
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P3-7 0, Day=4 (2025-04-02)
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P3-7

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | KB R

06:50 60 50.0 1] B1%@06:50 (KRFERSE)
07:50 60 50.0 1] B31&@07:50 (R FERZE)
08:50 60 50.0 1] 11&£@08:50 (ARFERER)
10:10 60 50.0 1] B31&@10:10 (KRFER)
12:45 60 50.0 | = Bige12:45 (KREERSE)
2it| 300.0 (5%) 250.0 3ZFHKEC: 2000.0, PH: 6.5

LOREBIRTC (90. 0) 578 (77. 0) AFF, Wt T Z BRIERSEXIER
EXIASKPRERES8. 0 ml.

large discrepency for begining water status (73:282.0), set to 115.0 ml.
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P3-7_0, Day=3 (2025-04-01)
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P3-7

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:50 60 50.0 5 1318006 :50 (K FH{EREE)
07:50 60 50.0 = B3%@07:50 (KRFEERSE)
08:50 60 50.0 = {B31%@08:50 (K FH{ERLEE)
09:50 60 50.0 |Z= B1%@09:50 (KRFERSE)
11:30 60 50.0 |Z=& Bi%011:30 (REERSE)
13:00 60 50.0 | = B318@13:00 (KRFEREE)
14:20 60 50.0 |Z= Bi%014:20 (REERSE)
23t| 420.0 (7% 350.0 3EGHKEC: 1900.0, PH: 6.5
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large discrepency for begining water status (84:288.0), set to 125.0 ml.
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